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Question 1:
Find the square roots of each of the following bers by Divisi me ol
(O} 2304 () 4489
(1) 3s81 (iv) 529
™ 3249 (vi) 1369
{wii) S776 (wiii) 7921
(ix) 576 (=) 1024
(x8) 3136 (xti) 900
= Answer 1:
D) 2304 48
- 25 08
Hence, the square root of 2304 is 48, - 16
a8 704
- 704
o
(u) 4489 67
Hence. the sguare root of 4489 is 67. - _;”
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Hence, the square root of 529 is 23 i
43 129
—-129
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i) 3249 2=
Hence. the square root of 3249 is 57, 107 . 77::
o
(i) 1369 37 -
3 13 9
Hence, the square root of 1369 is 37 -G
67 469
- 469
o
76
(wii) 5776 7 37 76
- 49
Hence, the square root of 5776 is 76. 146 876
- 876
o
89
(viii) 7921 8 79 31
— 64
Hence, the sgquare root of 7921 is 89, 169 1521
- 1521
o
24
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o
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(=) 1024 3 6 33
-9
Hence, the square root of 1024 is 32 62 124
- 124
0
56
x4 3136 oae—Is
o s 31 36
Hence, the square root of 3136 is 56 — -2s




